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HIH : 2021411 H6H () ~11H7H (H) S ZHAZBMG AR—Y Ok 85 Ak (25m)

No.26 BBF 100m &Fik=E RpE fEHE 5492

EhI K 4 T B FE KK B E 50m
1 el AR J S SR =2 1/ 4 58. 61 28.45 9%k ( 0.58)
2 B =} —HEK X3 1/ 6 58.98 28.55  8#% ( 0.60)
3 WE KA ZE/SS =2 1/ 5 59. 04 28.60 9%k ( 0.67)
4 YRH SRR WHTMS C =3 1/ 3 59. 47 28.59 9%k ( 0.57)
5 mif)ll  KFn HRhy7SC  El 1/ 1 1:01. 71 30.02  8#% ( 0.59)
6 Ein HFEI S C i3 1/ 2 1:01.74 29.85 8% ( 0.61)
7R AR IS C = 1/ 7 1:02. 34 30.29 8%k ( 0.52)
8 Ik BHA SCHz 12 1/ 8 1:04.60 31.09  9%% ( 0.59)
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